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e This tree dicgram showWs
aill the possible
probabilities of an event
that occurs thice.

o For example, spin @
spinner tiice that
has the letters
A, B,and Con it

e The first outcome of the
spin will either be A, B, or
C (this is the first pbreak in
the branches and
represented by the red
circle).

e The second outcome will

either be A, B, or C (this is

the next break in the

P(A)

branches and represented

by the blue, green, and
orange circles)

e Cach set of branches
must add up to 1 {each
group of colored circles
must equal 1.
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* This tree diagram showis all the

Outcome

possible outcomes of an event
that occurs tuice

o :or example, spin o spinner
Wice that has the letters
A, B and Con it

First
tcom

¢ There are o total of 9
outcomes for the following

[1) PAAY= P(A) - P(A)
[2) P(AB) = P(A) . P(B)
13) P(ac) = P(a) -
[4) P(BA) = P(B) -
5.) P(B,B) = P(B) .
8) P(B,C) = P(B) -

LP (C.A) = P(C) -

b/”' First ]

\,: utcome @5

Multiply the probabifities When
You move to the right

p(c B) = P(C) .
{

P(C,C) = P(C) - M~ First '

7
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* The probability of getting
the same outcome tice 15
P(A,A) + P(B,B) + P(C,C)
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